“arc  COVE - CVDP

UffOUﬂd FRAMELESS PIVOT
SHOWER DOOR AND PANEL

COPY THE MODEL NUMBER FOR YOUR RECORDS HERE # READ TH E INSTRUCTIO NS CAREFULLY .

Familiarize yourself with all the parts as shown in the exploded
view. The exploded view will also prov ide a helpful reference
when relating to the location of the various parts and how
they are mounted.

— | /,Q,/"

RIGHT PIVOT INSTALL LEFT PIVOT INSTALL

NeedHelp? If you have any questions or concerns regarding our warrplay, pleaseemail:
customerservice@Iuxartcollection.com

Revised 5/13/22


mailto:customerservice@1858brands.com

6
@mmm\b/%[

16PAN HEAD
SCREW

—

1 1/26AN HEAD

SCREW
\

/
Y

oy—
~ /4

—_— =
o
)
o

/ SCREW &/8"

/22 g
‘Y//SCREW 5/16"
23

Sl

4 SCREW 3/8"
11
! /Z
\4 3
L /14
~

‘ -~

2/l

kY

I
1

1
8 X8
5

Revised 5/13/22



PARTS LIST

WALL PLUG (6 PCS)

11/2" PAN HEAD SCREW
(6 PCS)

SCREW CAP (11 PCS)

3/8" SCREW (8 PCS)

5/8" SCREW (4 PCS)

1" PAN HEAD SCREW ALUMINUM GASKET DOOR MAGNETIC PLASTIC
(4PCS) (2PCS) PIVOT (2 PCS) HANDLE (1 PC) ( PCS)
an. a2 43 O &) as).
____________________ ’
PIVOT SIDE SPLASH GUARD PLASTIC SWEEP MAGNETIC WALL JAMB WALL JAMB TOP / BOTTOM TRACK
(1 PC) (2PCS) (1PC) (2PCS) (2 PCS)
=L
N =N o |8z | @ | w
FIXED PANEL DOOR (1 PC) BOTTOM PIVOT[PIVOT WASHER| ~ WASHER TOP PIVOT STOPPER | 5/16" SCREW
1 PC) BLOCK (1 PC) (2 PCS) (2 PCS) BLOCK (1 PC) (1 PC) (1PC)

AWARNING: Safety glasses should alway be worn when working with tempered

glass.

RECOMMENDED TOOLS

@

®

@

®

Mrﬂ s
1/4" (6mm)
SILICONE DRILL TAPE MEASURE RUBBER MALLET DRILL BITS
LEVEL PENCIL SCREW DRIVERS SAFETY GLASSES

2.

Revised 5/13/22




INSTALLATION PROCEDURE/ STEP 1/ STEP 2/ STEP 3

3

Set the level on the walls to ensure
that they are plum. Then set the

wall jambs (14) in place and
mark the hole locations.

Next drill holes in the wall and
using a rubber mallet, insert
the wall plugs (2).

FOR ACRYLIC & FIBERGLASS
SHOWER ENCLOSURES

Using a ¥ 8 inch drill bit,
drill a hole about 1-7/ 2 inch
deep at each of the
previously marked locations.

WARNING : Do not use wall
anchors with fiberglass or
acrylic shower enclosures.

FOR TILED SHOWER
ENCLOSURES

Using a /4 inch masonry
drill bit, drill a hole about
1-1/2inch deep at each of
the previously marked
locations.

Insert wall plug (1) into each
of the drilled holes.

Set wall jambs (14) in place and

screw (2) into the walls.

_____

——
==y
v

~
\
i

-
PENCIL

U

PENCIL

J

STEP1

SR

(2)1 1/20PAN HEAD

SCREW

STEP2

W

* om
RUBBER MALLET

°0

\

STEP3

CREW DRIVER

~.=%€@

Revised 5/13/22




INSTALLATION PROCEDURE/ STEP 4/ STEP 5

Connect magnetic wall jamb (13) to the top and bottom track (15) with aluminum gasket (7) and
1" pan head screws (6). Screws get attached from the back side of the jamb into the top and bottom.

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY

(6)10PAN HEAD Pl N (6) LOPAN HEAD
SCREW { S SCREW

Insert frame ends into the top and bottom opening of fixed panel (16) and slide until entire
assembly is roughly 4" narrower than overall opening width.

1
" 1 o v
¥, 1 o o
' -
------ } e
[E e . pmmn =]
~ - ' \~~_ P
- : . P
- P N -
) — -
—_————a = — ”’
1 g
I e ¢
| I
 S——p———
k b
N
—
.
.
l' r
e =—=—=—+
-4 ! [
- 1 [t
3 T
- -1 R | N = - Rl | TS P "~~\
" - -y N
LE j
- - - e S _ =" ’
____________ -
.
_ /
s mmm T T T -
L
T o
- (P

Revised 5/13/22



INSTALLATION PROCEDURE/ STEP 6

ﬂ Lift entire frame assembly into opening and push ends outward to engage wall jambs.
Use 3/8" screw (4) screw on top and bottom frame to lock assembly in place.

LEFT HAND ASSEMBLY RIGHT HAND ASSEMBLY

INSIDE VIEW INSIDE VIEW
(TOP & BOTTOM) (TOP & BOTTOM)
3/80 .
@ SCREW (4) 3180

Revised 5/13/22



INSTALLATION PROCEDURE/ STEP 7/ STEP 8

. Insert pivots (8) over the glass and screw

7 together. Set pivot washer (19) over pivot
pin on top of pivot block. Carefully lower
door panel (17) on to pivot block (18)
inserting pivot pin into corresponding hole
in pivot (8). Slide decorative covers over
both faces of pivots (8).

ﬂ Tilt door panel (17) slightly into the

shower. Set pivot washer (19) over pivot
block (18) and insert pininto top of pivot
(8).Tilt door panel back up and attach
pivot block (21) to top frame (15) with
5/8" screws (5). Adjust any gaps by
sliding top and bottom pivot block (8)
and retightening mounting screws.
Then af x the stopper (22) to top pivot
block (21) with 5/ 16" screw (23).
Install handle and knob.

Revised 5/13/22



INSTALLATION PROCEDURE/ STEP 9

Attach magnetic door plastic (10) to outside
of glass door panel (17).

Next, attach pivot side splash guard (11)

to opposite end of glass and sweep (12)

on the bottom .

INSTALLATION PROCEDURE/ STEP 10

Make adjustments to fit opening.
Insert 3/8" screws (4) into the fram e work

and cover screws with caps (3).

Revised 5/13/22



